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Part-1 : Reasoning¼rdZ½ 

In each of the following series determine the order of the letters. Then from the given options 

select the one which will complete the given series. 

fuEufyf[kr dk lw= le>ks vkSj fjDr LFkku ¼ \ ½ ds fy, mi;qDr fodYi pquksA  

Q1. B  A D C ? H G J I 

 A. EF   

B. FE   

C. FG   

D. DF           

 

Q2. ADG, XVT, BEH, WUS, ? 

 A. VTR   

B. CFI   

C. DFJ   

D. FTU           

Q3. GMSY, IOUA, KQWC, ? 

 A. MSYE  

B. NSYE  

C. MTYE  

D.MSYF          

 

In the following question, select the number(s) from the given options for completing the given 

series. 

fuEufyf[kr dk lw= le>ks vkSj fjDr LFkku ¼ \ ½ ds fy, mi;qDr fodYi pquksA  

Q4. 3, 1/3, 14, 1/14, 25, 1/25, ? 

 A. 1/36  B. 34  C. 35  D. 36     

Q5. 96, 90, 78, ?, 36, 6 

A. 60  B. 72  C. 48  D.54     

In the questions given below establish the relationship between the two words. Then from 

given options select one which has the same relationship as of the given two words. 

fuEufyf[kr esa fn, x, nks 'kCnksa dk lacaèk le>ks vkSj fjDr LFkku ds fy, mi;qDr fodYi pquksA 

Q6. Gum is ...... as Socket is to Eye. 

 elwM+ksa esa ---------- tSls lkWdsV esa vk¡[k 

 A. Tree  B. Paper  C. Tooth  D. Stick  

 isM+      dkxt     nkar      NM+h  
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Q7. Stars are to Night as Sun is to ...... 

 flrkjs tSls jkr esa] lwjt oSls ------------- esa  

 A. Noon  B.Dawn  C. Day  D. Light   

 nksigj     Hkksj      fnu     mtkyk  

Q8. If ‘light’ is called ‘morning’ , ‘morning’ is called ‘dark’ , ‘dark’ is called ‘night’ , ‘night’ is called 
‘sunshine’ and ‘sunshine’ is called ‘dusk’ , when do we sleep? 

;fn mtkyk losjk dgyk;s] losjk vaèksjk dgyk;s] vaèksjk jkr dgyk;s] jkr èkwi dgyk;s vkSj èkwi 'kke 
dgyk;sA rks ge fdl le; lks;saxs\   

  A. Morning B. Night C. Dusk  D. Sunshine    

 losjs    jkr     'kke      èkwi  

Q9.  Horse : Mare. Find the most appropriate pair below   
 tSls ?kksM+k vkSj ?kksM+h oSls  
 

A. Cow : Bull 
xk; vkSj cSy 

B. Cow : Calf 
xk; vkSj cNM+k 

C. Dog : Puppy 
dqÙkk vkSj fiYyk 

D. Tiger : Horse 
'ksj vkSj ?kksM+k 

 

Q10. WhatBank : Money, in the same way, Transport : ______  
 tSls cSad vkSj iSlk oSls xkM+h vkSj ------------------ 

 
 A.    Traffic xkfM+;ksa dh HkhM+ 
 B.    Goods lkeku 

 C.    Speed xfr 

D.    Road lM+d 

 

Q11. Find the odd one out  
 vlaxr NkaVsa 
 

A. crusade 
èkeZ ;q) 

B. expedition 
[kkst vfHk;ku 

C. cruise 
leqæh ;k=k 

D. campaign 
;q) vfHk;ku 
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Q12. Find the odd one out  
 vlaxr NkaVsa 

A. flourish 
Qyuk Qwyuk   

B. renovate 
ejEer 

C. blossom 
f[kyuk 

D. thrive 
iuiuk 

 
Q13. Find the odd one out  
 vlaxr NkaVsa 
 

 A.    Vapour  ok"i 

 B.    Mist  dksgjk 
 C.    Hailstone vksys  

 D.    Fog  èkqaèk 
 
Q14. Find the odd one out  
 vlaxr NkaVsa 

 
A. Circle : Arc 

xksyk % dks.k 
B. Chair : Leg 

dqlhZ % Vkax 
C. Flower : Petal 

Qwy % iÙkh 
D. Cover : Page 

doj % iUuk 
 
Q15. If PALE is coded as 2134, EARTH is coded as 41590, how can is PEARL be coded in that 
language?  
 vxj PALEdk dksM 2134 gks] EARTH dk dksM 41590 gks] rks PEARL dk dksM D;k gksxk\ 

 
 A.    25430 
 B.    29530 
 C.    25413 
 D    24153 

 
Q16. If ROSE is coded as 6821, CHAIR is coded as 73456 and PREACH is coded as 961473, what 
will be the code for SEARCH?  

 
 vxj ROSEdk dksM 6821 gks] CHAIR dk dksM 73456 gks vkSj PREACH dk dksM 961473 gks] rks 
SEARCH dk dksM D;k gksxk\ 
 

 A.    216473 
 B.    246173 
 C.    214673 
 D.    214763 
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Q17. If in a certain code, GLAMOUR is written as IJCNMWP and MISRULE is written as 
OGUSSNC, then how will TOPICAL be written in that code? 

vxj GLAMOUR dks IJCNMWP fy[kk tk;s vkSj MISRULEdks OGUSSNC fy[kk tk, rks 
TOPICAL dks dSls fy[kk tk,xk\   
 

 A.    VMRJECN 
 B.    VMRHAGJ 
 C.    VMRJACJ 
 D.    VNRJABJ 
 

Q18. A woman introduces a man as the son of the brother of her mother. How is the man related to 
the woman? 
  ;fn dksbZ efgyk vius lkFk iq#"k dks vius HkkbZ dh ek¡ dk csVk crk,] rks ml efgyk dk iq#"k ds 
lkFk D;k fj'rk gS\   

 
 A.    Uncle  pkpk@ekek 
 B.    Grandson iksrk@ukrk 
 C.    Cousin  ppsjk@ekslsjk@eesjk HkkbZ 
 D.    Son  csVk 

 

Q19. What Doctor : Patient, in the same way a Politician : ______   
 tSls MkWDVj vkSj ejht oSls gh usrk vkSj --------------------- 
 

 A.    Voter  ernkrk 
 B.    Chair  dqlhZ 
 C.    Money  èku 

 D.    Public  turk 
 
 
Q20. What Ignorance : Education, in the same way Disease : ______  
 tSls vKkurk vkSj f'k{kk oSls gh chekjh vkSj ---------------------- 
 

 A.    Hospital  vLirky 

 B.    Doctor  MkWDVj 

 C.    Medicine  nokbZ 
 D.    Nurse  ulZ 

 

Q21. What Guilt : Past, in the same way Hope : ______  
 tSls iNrkok vkSj chrk gqvk dy oSls mEehn vkSj --------------------- 
 

 A.    Present  orZeku 

 B.    Sorrow  xe 

 C.    Past  Hkwrdky 

 D.    Future  Hkfo"; 
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Q22. Carefully study the diagram given below.  The circle indicates 'strong', square indicates 'tall' 

and triangle indicates 'army officers'.  
;fn xksykdkj rkdroj dks n'kkZ,] pdksj yacs dks n'kkZ;s vkSj f=Hkqtkdkj vkehZ vQlj n'kkZ;s rks  
 
 
 
 
 
 
 
 
 
 
The strong army officers who are not tall are shown as 
 

fdrus rkdroj vkehZ vQlj tks yacs ugha gSa 
  

A.    4 
B.    3 
C.    5 
D.    6 

 
 

Q23. The circles 'C', 'T' and 'J', given below depict criminals, thieves and judges. 
 ;fn uhps fn, gq, xksys vijkèkh] pksj] vkSj tt n'kkZ;s rks 
        

 

Which of the following figures best depicts the relationship among criminals, thieves and judges?  
dkSu lk xksyk@xksys rhuksa dk lacaèk n'kkZrs gSa\ 

 
 
 
 
 
 
 
 
A.    a 
B.    b 
C.    c 
D.    d 
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Q24.  In a family there are husband wife, two sons and two daughters. All the ladies were invited to 
a dinner. Both sons went out to play. Husband did not return from office. Who was at home? 
 ,d ifjokj esa ifr] ifRu] nks csVs vkSj nks csfV;ka gksA lHkh efgykvksa dks [kkus ds fy, cqyk;k tk,] 
tgka nksuksa csVs ckgj [ksyus pys tk,a vkSj ifr n¶rj ls uk ykSVk gks] rks bl le; ?kj esa dkSu ekStwn gS\   

  
 A.    Only wife was at home  flQZ ifRu 

 B.    All ladies were at home  lHkh efgyk,a 
 C.    Only sons were at home dsoy csVs  

 D.    No body was at home  dksbZ Hkh ugha 
 
Q25.  Artists are generally whimsical. Some of them are frustrated. Frustrated people are prone to 
be drug addicts. Based on these statements which of the following conclusions is true?  
 dykdkj vDlj eLr LoHkko ds gksrs gSaA muesa ls dqN fp<+s jgrs gSaA fp<+s gq, yksx dbZ ckj eknd 
inkFkks± dk lsou djrs gSaA bu ckrksa dks è;ku esa j[krs gq, dkSu lk fu"d"kZ lgh gS\ 

 
A. All frustrated people are drug addicts  

lHkh fpM+fpM+s yksx eknd inkFkks± dk lsou djrs gSa 
B. Some artists may be drug addicts  

dqN dykdkj eknd inkFkks± dk lsou djrs gSa 
C. All drug addicts are artists  

eknd inkFkks± dk lsou djus okys lHkh yksx dykdkj gksrs gSaa 
D. Frustrated people are whimsical  

fpM+fpM+s yksx eLr gksrs gSa 
 
Q26.  If A is the son of Q, Q and Y are sisters, Z is the mother of Y, P is the son of Z, then which of 
the following statements is correct?  
 A;fn Q dk csVk gS] Q vkSj Y nksuksa cgusa gSa] Z, Y dh ekrk gS] P, Z dk csVk gS rc dkSu lk dFku 
lgh gS\  

 
 A.    P is the maternal uncle of A  P, A dk ekek gS 
 B.    P and Y are sisters   P vkSj Y cgusa gSa 
 C.    A and P are cousins   AvkSj P ppsjs@eesjs@ekslsjs HkkbZ@cgu gSa 
 D.    None of the above   buesa ls dksbZ Hkh ugha 

 
Q27.  There are five books A, B, C, D and E placed on a table. If A is placed below E, C is placed 
above D, B is placed below A and D is placed above E, then which of the following books touches the 

surface of the table ?  
 ;fn fdlh Vscy ij A, B, C, D vkSj E ik¡p fdrkcsa ,d nwljh ds mij j[kh gksaA ;fn A, E ds uhps 
gks] C, D ds mij gksA B, A ds uhps gksA D, E ds mij gks rc dkSu lh fdrkc Vscy dh lrg dks Nw jgh gS\ 

 
 A.    C 
 B.    B 
 C.    A 
E. E 
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Q28.  Three ladies X, Y and Z marry three men A, B and C. X is married to A, Y is not married to an 
engineer, Z is not married to a doctor, C is not a doctor and A is a lawyer. Then which of the following 
statements is correct?  
 rhu efgyk,a X, Y, Z,  rhu iq#"kksa A, B, C ls C;kgh gSaA X dh 'kknh A ls gqbZ gksA Y  dh 'kknh 
baftfu;j ls ugha gqbZ gksA  Z dh 'kknh MkWDVj ls ugha gqbZ gSA ;fn C MkWDVj vkSj A odhy ugha gS rks dkSu 
lk dFku lgh gS\ 

 
A. Y is married to C who is an engineer 

Y dh 'kknh C ls gqbZ gS tks fd odhy gS 
B. Z is married to C who is a doctor 

Z dh 'kknh C ls gqbZ gS tks fd MkWDVj gS 
C. X is married to a doctor 

X dh 'kknh MkWDVj ls gqbZ gS  

D. None of these 
buesa ls dksbZ Hkh ugha 
 

 
Q29. Choose the figure which is different  

vlaxr vkÑfr crk,a 
 

 

  
 A.    1 

 B.    2 

 C.    3 

 D.    4 

Q30. Choose the figure which is different 

 vlaxr vkÑfr crk,a 

  
 

 A.    1 

 B.    2 

 C.    3 

 D.    4 
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Q31. Choose the figure which is different 
 vlaxr vkÑfr crk,a 
 

   
  A.    1 

  B.    2 

  C.    3 

  D.    4 

Q32. Choose the figure which is different 

 vlaxr vkÑfr crk,a 

   
  A.    1 

B.    2 

  C.    3 

  D.    4 

 

Suggest the next figure in each of the following 

Øe esa vxyh vkÑfr lq>k,a 
       (A) (B)  (C) (D) (E) 
Q33.  

 
 

   

? 

       

       (A) (B)  (C) (D) (E) 
Q34.  

 
 

   

? 

       

       (A) (B)  (C) (D)  
Q35.  

 
 

   

? 

       

       (A) (B)  (C) (D)  
 

Q36. In a meeting, the map of a village was placed in such a manner that southeast 
becomes north, northeast becomes west and so on. What will south become? 
 vxj ,d xkao dk uD'kk bl rjg ls j[kk tk, fd uD'ks dk nf{k.k&iwoZ] mÙkj dh fn'kk esa gks vkSj 
mÙkj&iwoZ] if'pe dh fn'kk esa gks rks uD'ks dk nf{k.k fdl fn'kk esa gksxk\ 
 
 (a) North     (b) North-east  

  mÙkj     mÙkj iwoZ  

 (c) North-west    (d) West  

  mÙkj&if'pe    if'pe  

? 

? 

? 
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Q37. A person travelled a distance of 50 km in 8 hours.  He covered a part of the distance 
on foot at the rate of 4 km per hour and a part on a bicycle at the rate of 10 km per hour. How 
much distance did he travel on foot? 
 ,d O;fDr 8 ?kaVs esa 50 fdyksehVj dh nwjh iwjh djrk gSA mlus dqN nwjh iSny pkj fdyksehVj izfr 
?kaVs dh j¶rkj ls vkSj dqN nwjh lkbfdy ij 10 fdyksehVj dh j¶rkj ls iwjh dhA crk,a fd ;g O;fDr iSny 
dqy fdrus fdyksehVj pyk\ 
 
 (a) 10 km    (b) 20 km  

 (c) 30 km    (d) 40 km  

 
Q38.   

 

 How many different triangles are there in the figure shown above? 

 bl vkÑfr esa vki dqy fdrus f=Hkqt ns[k ldrs gSa\ 

 (a) 28    (b) 24 

 (c) 20    (d) 16 

 

Q39. If Rs 8,000 can maintain a family of 4 persons for 40 days, for how long will Rs 10,500 
maintain a family of 6 persons? 
 ;fn 8000 #i;s esa ,d ifjokj ds pkj yksx 40 fnu rd xqtkjk dj ldrs gSa rks 10500 #i;s esa 6 
yksxksa dk ifjokj fdrus fnu xqtkjk dj ldrk gS\ 
 
 (a) 30 days    (b) 35 days  

 (c) 25 days    (d) 28 days    

 
Q40. X works twice as fast as Y. If Y can complete a job alone in 12 days, then in how many 
days can X and Y together finish the job? 
 X, Y ls nqxuh rsth ls dke djrk gSA ;fn Y ,d dke dks 12 fnuksa esa iwjk djrk gks] rks X vkSj Y 
nksuksa feydj ml dke dks fdrus fnu esa iwjk djsaxs\   
 
 (a) 18     (b) 4  

 (c) 6     (d) 8  

 
Q41. In a class of 60 students 45 play cricket, 30 play football, 5 play none. How many 
students play both the games? 
 ,d d{kk esa 60 cPps gSaA 45 cPps fØdsV [ksyrs gSa vkSj 30 cPps QwVcky [ksyrs gSaA tcfd 5 cPps dqN 
ugha [ksyrsA crk,a fd fdrus cPps nksukssa [ksy [ksyrs gSa\ 
  
 (a) 20     (b) 15 

 (c) 10    (d) 5 
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Q42. A person whose house is facing east, comes out of his house, takes a left turn and 
travels in that direction for 7 kilometres, after which he takes another left turn and travels for 6 
kilometres. He again takes a left turn and travels for 3 kilometres, and again takes a left turn 
and travels for 3 kilometres. From this point what is the shortest distance to his house? 
 ,d O;fDr ftldk ?kj iwjc dh fn'kk esa [kqyrk gS] vius ?kj ls fudydj ck,a dh vksj 7 fdyksehVj 
pyrk gSA fQj ck,a eqM+dj vkSj 6 fdyksehVj pyrk gSA fQj ck,a eqM+dj 3 fdyksehVj pyrk gSA nqckjk ck,a 
eqM+dj 3 fdyksehVj pyrk gSA crk,a fd mldh vius ?kj ls de ls de nwjh fdruh gS\  
 
 (a) 19 km    (b) 10 km 

 (c) 5 km     (d) 30 km 
 
Q43. A card is drawn from a well-shuffled pack of cards. The probability if getting a queen of 
club or king of heart is? 
 rk'k dh xM~Mh esa ls ;fn ge 1 iÙkk fudkysa] rks fpfM+;k dh csxe ;k iku dk ckn'kkg fudyus dh 
laHkkouk D;k gS\  
 
 (a) 1/52    (b) 1/26  

 (c) 1/13    (d) 1/56 
 

Q44. Gangaram started walking towards South. After walking 15 metres he turned to the left 
and walked 15 metres. He again turned to his left and walked 15 metres. How far is he from 
his original position and in which direction? 
 xaxkjke vius ?kj ls nf{k.k dh rjQ 15 ehVj pykA fQj ck,a dh vksj eqM+k vkSj 15 ehVj pykA oks 
fQj ck,a eqM+k vkSj pykA crk,a fd xaxkjke viuh igys dh fLFkfr ls fdruk nwj gS vkSj fdl fn'kk esa gS\ 
 

(a) 15 metres, North  15 ehVj] mÙkj 

(b) 15 metres, East   15 ehVj] iwoZ 

(c) 30 metres South   30 ehVj] nf{k.k 

(d) 15 metres, West   15 ehVj] if'pe 
 
Q45. I go 10 m to the East, then I turn left and go 5 m, I turn left again and go 10 m and then 
again I turn left and go 10 m. In which directions am I from the starting point? 
 eSa 10 ehVj iwjc dh rjQ pyus ds ckn ck,a eqM+k vkSj 5 ehVj pykA eSa fQj ck,a eqM+k vkSj 10 ehVj 
pyk vkSj ,d ckj fQj ck,a eqM+dj 10 ehVj pykA vc eSa çkjafHkd fcUnq ls fdl fn'kk esa gw¡\ 
 

 (a) East   iwjc  (b) West   if'pe 

 (c) North   mÙkj  (d) South   nf{k.k 
 
Q46. A 260 metre long train runs at a speed of 55 kmph. How much time will it take to cross 
a platform 290 metre long? 
 260 ehVj yach jsyxkM+h 55 fdyksehVj izfr ?kaVs dh j¶rkj ls py jgh gSA ;g jsyxkM+h 290 ehVj yacs 
IysVQkeZ dks fdruh nsjh esa ikj djsxh\ 
 
 (a) 20 seconds  lsdsaM  (b) 36 seconds  

 (c) 18 seconds    (d) 60 seconds   
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Q47. My uncle shall visit me after 64 days of my father's birthday. If my father's birthday falls 
on Tuesday, what shall be the day on my Uncle's visit? 
 esjs pkpk] esjs firk ds tUe fnu ds 64 fnu ckn esjs ?kj vk,axsA esjs firkth dk tUefnu ;fn 
eaxyokj dks gS rks esjs pkpk g¶rs ds fdl fnu esjs ?kj vk,axs\ 
 
 (a) Wednesday   cqèkokj  (b) Sunday  jfookj 

 (c) Tuesday  eaxyokj (d) Monday lkseokj 

 
Q48. Rakesh ranked 9th from the top and 38th from the bottom in a class. How many 
students are there in the class? 
 jkds'k ijh{kk esa viuh d{kk esa Åij ls 9osa uEcj ij jgk vkSj uhps ls 38osa uEcj ij jgkA crk,a fd 
d{kk esa dqy fdrus cPps gSa\  
 
 (a) 47    (b) 45 

 (c) 46     (d) 48  

 
Q49. If the following words are arranged in natural order, what will come in the last place in 
ascending order? 
 fuEufyf[kr dks c<+rs Øe esa yxk,aA vkf[kjh LFkku ij D;k jgsxk\ 
 
 (a) Captain dIrku  (b) Subedar Major  lqcsnkj estj 

(c) Major   estj  (d) Lieutenant Colonel   ysf¶VusaV duZy 

 
Q50. If day-after-tomorrow is Sunday, what was day-before-yesterday? 
 ;fn ijlksa jfookj gS] rks vkt ls nks fnu igys D;k fnu Fkk\ 
 
 (a) Wednesday  cqèkokj  (b) Thursday  xq#okj 

 (c) Friday  'kqØokj  (d) Saturday 'kfuokj 
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Part-II : Elementary Mathematics 
 

Q51. The value of 0.99 × 14 ÷ 11 ÷ 0.7 is: 

inksa dk eku D;k gS\ 

 (a) 2.9  (b) 1.6  (c)  1.8  (d)  2.8       

Q52. What is the value of 11
2
 - 6

2
 ÷ 6 x 

�

�
 = 2 of 10? 

inksa dk eku D;k gS\  

 (a) 126  (b) 108  (c) 110  (d)  125     

 

Q53. Which of the following is the standard form of 
(�� ×��)�(�� ÷�)

(�����)�  �
��

�
 �� 

�

�
�
? 

 dkSu lk fodYi lgh gS\ 

 (a) 
����

���
  (b) 

����

���
 (c)

����

���
  (d) 

����

���
  

Q54. L. C. M. of 6, 9, 12, 18 is --- 

 vadksa dk y?kqÙke lekioÙkZd D;k gS\ 

 (a)  28  (b)  36  (c)  38  (d)  42  

  

Q55. If ‘x’and  ‘y’ are both odd numbers, which of the following numbers must be an even number? 

 ;fn ‘x’rFkk  ‘y’fo"ke la[;k gS rks fuEu esa ls dkSu&lk la[;k le la[;k gksxk\ 

 (a)  x + y  (b)  x × y  (c)  xy + 2  (d)  2x + y 

 

Q56. 12.1212 + 17.0005 – 9.1102 = ? 

 

 (a)  20.1015  (b)  20.0115  (c)  20.0105  (d)  20.0015 

 

Q57. 1 + 0.1 + 0.01 + 0.001 = ? 

 

 (a)  1.111  (b)  1.003  (c)  1.011  (d)  1.001 

Q58. One man adds 3 litres of water to 12 litres of milk and another 4 litres of water to 10 litres of milk. 
What is the ratio of the strengths of the milk in the two mixture? 

 ,d vkneh 3 yhVj ikuh 12 yhVj nqèk esa rFkk vU; O;fDr 4 yhVj ikuh 10 yhVj nqèk esa feykrk gSA nksuksa feJ.k esa 
nqèk dk vuqikr D;k gksxk\ 

 (a)  15 : 25  (b)  25 : 28  (c)  28 : 25  (d)  None of these 
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Q59. Gold is 19 times as heavy as water and copper 9 times as heavy as water. The ratio in which these two 
metals be mixed so that mixture is 15 times as heavy as water is: 

 lksuk 19 xq.kk ikuh ls Hkkjh gS rFkk rk¡ck 9 xq.kk ikuh ls Hkkjh gSA rks dkSu&lk vuqikr] nksuksa èkkrqvksa dk feJ.k 15 xq.kk 
ikuh ls Hkkjh gksxk\ 

 (a)  1 : 2 (b)  2 : 3  (c)  3 : 2  (d)  19 : 135  

 

Q60. A certain amount was divided between Kavita and Reema in the ratio 4 : 3. If Reema’s share was Rs. 
2400, the amount is: 

 dfork rFkk jhek dqN jkf'k dks vkil esa 4 % 3 vuqikr esa ckaVrh gSA ;fn jhek dks viuk fgLlk 2400 #- feyk rks 
jkf'k gS\ 

 (a)  Rs.5600  (b) Rs.3200  (c)  Rs.9600  (d)  None of these 

 

Q61. A batsman has a certain average of runs for 16 innings. In the 17th innings, he makes a score of 85 runs 
thereby increasing his average by 3. What is the average after the 17th inning? 

 ,d cYysckt 16 ikjh esa dqN vkSlr ju cuk;kA og 17oha ikjh esa 85 ju cukrk gS ftlds QyLo:i mldh vkSlr esa 
3 ju dh c<+ksÙkjh gqbZA rks 17oha ikjh ds ckn vkSlr D;k gksxk\  

 (a)  33 runs  (b)  34 runs  (c)  37 runs   (d)  36 runs  

Q62. What is the value of a
5
 × a

7
? 

 inksa dk eku D;k gS\ 

 (a)  a
35

  (b)  a
2
  (c)  a

12
  (d)  a

5/7 

Q63. (100)
0
 is equivalent to? 

 (100)
0 
ds cjkcj gS\ 

 (a)  0  (b)  10  (c)  1  (d)  100 

Q64. The value of 6a
3
 b

3
 c

2
÷  2ab

2
c is : 

 inksa dk eku D;k gS\ 

 (a)  3a
2
bc  (b)  3a b

2
 c  (c)  3a

2
 b

2
 c

2
  (d)  3a

3
 b

3
 c

3 

Q65. The value of
���.���

���.���
÷ 
���

���
 is: 

 inksa dk eku D;k gS\ 

 (a)  �  (b)   
�

�
  (c)��  (d)  

�

��
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Q66. What is 170% of 1140? 

 1140 dk 170 izfr'kr D;k gksxk\ 

 (a)  1824  (b)  1881  (c)  1938  (d)  1995 

 

Q67. 14% of 280 +18% of 350 = ? 

 (a)  102.2  (b)  103.4  (c)  105  (d)  108.4 

 

Q68. A person walks from his house to his office at a speed of X1km/h and return by the same route at a 

speed of X2 km/h. His average speed is  

 ,d O;fDr pyrs gq, vius ?kj ls vkWfQl X1 fd-eh-@?kaVk dh xfr ls tkrk gSA okilh esa mlh jkLrk ls X2 fd-eh-

@?kaVk dh xfr ls vkrk gSA rks mldk vkSlr xfr D;k gS\ 

(a) 
��� ��

�
  (b) 

��� ��

�
 

(C)  
�

�
�

����

��� ��
�  (d) 

2�1.�2
�1+ �2

  

 

Q69. A house of height 100 m subtends a right angle at the window of an opposite house. If the height of the 
window be 64 m, then the distance between the two house is 

 ,d ?kj dh m¡pkbZ 100 ehVj gS tks vius mYVs rjQ ds ?kj ds dejk ds f[kM+dh ds ledks.k ij gSA ;fn f[kM+dh dh 
m¡pkbZ 64 ehVj gS rks nksuksa ?kjksa ds chp dh nwjh D;k gS\ 

 (a) 48 m  (b) 36 m  (c)  54 m  (d)  72 m 

 

Q70. Some portion of a 20 m long tree is broken by the wind and the top struck the ground at an angle of 
30o. The height of the point where the tree is broken, is  

 20 ehVj yEch ,d isM+ rst gok esa chp ls VwV dj 30 fMxzh dks.k ij tehu ij fxj tkrk gSA rks isM+ tgk¡ ls VwVk 
mldh Å¡pkbZ Kkr djsa\ 

 (a) 10 m  (b) (2√3-3) 20 m (c)  
��

�
 m    (d)  None of this 

 

Q71. A man borrowed Rs. 8000 at 6% per annum simple interest for 5 yr. After 3 years he returned Rs. 7000. 
How much amount should he return at the end to settle the loan? 

 ,d vkneh 8000 #- 6 izfr'kr izfr o"kZ lkèkkj.k C;kt ij 5 lky ds fy, mèkkj ysrk gSA og 3 lky ij 7000 #- 
okil fd;k rks mls C;kt lfgr vUr esa fdruk jkf'k okil djuk gksxk\ 

 (a) Rs 2732.80  (b) Rs. 2612.20  (c)  Rs. 2824.40  (d)  Rs. 2190.50 
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Q72. A shop keeper earns a profit of 20% on selling a book at a 16% discount on the printed price. The ratio 
of the cost price and the printed price is  

 ,d nqdkunkj fdrkc ds eqæd ewY; ij 16 izfr'kr NwV ns dj 20 izfr'kr dk ykHk dekrk gS rks ykxr ewY; rFkk 
ewæd ewY; dk vuqikr gS\ 

 (a) 5 : 6  (b) 5 : 7  (c)  7 : 10  (d)  6 : 11 

 

Q73. Seats of Physics, Chemistry and Mathematics in a school are in the ratio of 3 : 4 : 6. There is a proposal 
to increase these seats by 10%, 20%, and 50%, respectively. What will the ratio of increased seats? 

 ,d Ldwy esa jklk;u] HkkSfrdh rFkk xf.kr dh lhVksa ds vuqikr 3 % 4 % 6 gSA mlesa 10 izfr'kr] 20 izfr'kr rFkk 50 
izfr'kr] lhVksa ds c<+kus dk lq>ko dks LohÑfr fey x;k gS rks c<+s gq, lhVksa ds vuqikr D;k gSa\ 

 (a) 11 : 16 : 30  (b) 16 : 11 : 30  (c)  16 : 12 : 15   (d)  12 : 16 : 30 

 

Q74. A well with 14m inside diameter is dugout 15m deep. The earth taken out of it has been evenly spread 
all around it to a width of 21m to form an embarkment. What is the height of the embarkment? 

 ,d dqvk¡ [kksnk x;k ftldk vUn:uh C;kl 14 ehVj] xgjkbZ 15 ehVj gSA dq,¡ ls fudkyh xbZ feêh dks tehu dh 
lrg ij pkjksa rjQ 21 ehVj esa QSyk fn;k tkrk gSA rks QSykbZ gqbZ feðh dh Å¡pkbZ Kkr djsaA  

 (a) 1 m  (b) 2 m  (c)  3 m  (d)  4 m 

 

Q75. The maximum number of boxes, each of length 2 m, breadth 4m and height 5m that can be placed in a 
box of length 20m, breadth 10m and height 5m is 

 ,d cDlk ftldh yEckbZ 20 ehVj] pkSM+kbZ 10 ehVj rFkk Å¡pkbZ 5 ehVj gSA mlds vUnj] yEckbZ 2 ehVj] pkSM+kbZ 4 
ehVj rFkk Å¡pkbZ 5 ehVj ds fdrus T;knk ls T;knk cDls vk ldrs gSa\   

 (a) 30  (b) 40  (c) 20  (d)  25 

 

Q76. A fan is listed at Rs. 2400 with a discount of 10%. What additional discount must be offered to the 
customer to bring the net price to Rs. 2000? 

 ,d ia[kk dk vafdr ewY; 2400 #i;s gSA ftlij 10 izfr'kr NwV gS] rks Øsrk dks lgh ewY; 2000 #- ij [kjhnus ds 
fy, vU; NwV D;k gksxk\ 

 (a) 14%  (b) 6%  (c)  12%  (d)  8% 

 

Q77. If a + b + c = 10 and ab + bc + ca = 31, then the value of a2 + b2 + c2
 is 

 ;fn a + b + c = 10rFkkab + bc + ca = 31,taoa2 + b2 + c2
dk eku D;k gS\ 

 (a) 48  (b) 38   (c) 18  (d)  20 
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Q78. If α cos �–bsin � = c, then α sin � + bcos� is equal to 

 ;fn α cos�–bsin � = c, rksα sin� + bcos� kods cjkcj gS\ 

 (a)  ±√�� + �� − ��  (b) ±√�� + �� − ��  

(c)  ±√�� + �� − ��  (d)  ±√�� + �� + �� 

 

Q79. A toy is in the shape of a hemisphere surmounted by a cone. If radius of base of the cone is 3 cm and 
its height is 4cm. Total surface area of the toy is 

 ,d f[kykSuk vkdkj xksykèkZdkjuqek] mBk gqvk Hkkx 'kadq dh rjg gSA ;fn 'kadq ds vkèkkj dh f=T;k 3 lsa-eh- rFkk m¡pkbZ 
4 ls-eh- gS rks f[kykSuk dk dqy i`"B Hkkx dk {ks=Qy D;k gS\  

 (a) 33π cm2  (b) 42π cm2  (c) 66π cm2  (d)  56π cm2 

 

Q80. On the basis of the adjacent figure, consider the statements  

 vkÑfr esa fn, gq, dFku dks lR;kiu djrk gS\  

 

 

 

 

I. ∠1,  ∠5 and  ∠2,  ∠6 are pairs of corresponding angles. 

∠1,  ∠5 rFkk ∠2,  ∠6;qXe vuq:i dks.k 

II. ∠4 and  ∠ 6 is a alternate angles. 

∠4rFkk ∠6vyx&vyx dks.k gSA 

∠1, ∠ 2 and  ∠ 8,∠7 are exterior angle. 

∠1,  ∠2rFkk ∠8,  ∠7ckgjh dks.k 

Which of the following statement are true? 

fuEufyf[kr esa dkSu lk dFku lgh gS\ 

(a) I and II  (b) II and III  (c) I and III  (d) I,II and III 

 

Q81. If x= 
√���

√�� �
 and y= 

√���

√�� �
, then the value of x

2
 + y

2
 is 

 ;fn x= 
√���

√�� �
rFkk y= 

√���

√�� �
, rks x

2
 + y

2
dk eku D;k gS\ 

(a) 34  (b) 36  (c) 32  (d) 38 

 

8 
6 

7 

5 

3 
4 

2 1 

D C 

B A 
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Q82. Kiran purchased a scooter for Rs 24000. The value of scooter is depreciating at the rate of 5% per 

annum. Then, its value after three years is 

fdj.k us ,d 2400 #- esa LdwVj [kjhnkA LdwVj dk ewY; 5 izfr'kr dh nj ls izfro"kZ de gks jgk gS rks 3 lky ds ckn 
bldk ewY; D;k gksxk\ 
(a) Rs 20577   (b) Rs 20977  (c) Rs 20677  (d) Rs 20877 

Q83. When 40% if a number is added to 42, the result is the number itself. The number is  

40 izfr'kr fdlh la[;k dk ;fn 42 esa tksM+k tk;s] ifj.kke la[;k Lo;a gS rks la[;k D;k gS\  

(a) 70  (b) 90  (c) 82  (d) 72  

Q84. A circle and a square have same area. Therefore, the ratio of the side of the square and the radius of 

the circle is: 

 ,d oÙ̀k rFkk ,d oxZ dk {ks=Qy cjkcj gSA rks oxZ dk Hkqtk rFkk òÙk dh f=T;k dk vuqikr D;k gS\ 

(a) √�: 1 (b) 1:√� (c) 1 : π  (d) π : 1 

Q85. The greatest six digit number is a perfect square is  
N% vadksa dh cM+h la[;k esa iw.kZ oxZ D;k gS\ 
 (a) 998004  (b) 998006 (c) 998049 (d) 998001 

Q86. A mason can build a tank in 12 h. After working for 6 h, he took the help of a boy and finished the work 

in another 5 h. The time that the boy will take alone to complete the work is 

feL=h 12 ?kUVs dk dke dj ds Vadh dk fuekZ.k djrk gSA 6 ?kUVs dke djus ds ckn og nwljs yM+ds ds lkFk feydj 
5 ?kUVs esa dke dks iwjk djrk gSA rks og yM+dk vdsyk fdrus le; esa dke dks iwjk djsxk\ 

 
(b) 30 Hrs (b) 45 Hrs (c) 60 Hrs (d) 64 Hrs 

Q87. In an Army camp ration is available for 100 soldiers for 10 days. After 2 days 60 soldiers joined. Then, 

for how many more days will the remaining ration last? 

,d vkehZ dSEi esa 10 fnu ds fy, 100 tokuksa dk jk'ku miyCèk gSA 2 fnu ckn 60 toku vkSj tqM+ x,] rks 'ks"k jk'ku 
fdrus fnu esa lekIr gksxk\ 

 
(a) 7 days (b) 6 days (c) 5 days (d) 4 days 

Q88. The value of sec A (1 – sin A) (sec A + tan A) is 

sec A (1 – sin A) (sec A + tan A)dk eku D;k gksxk\ 

(a) -1  (b) 1  (c) 2  (d)  
�

�
 

Q89. Divide the number 26244 by the smallest number, so that the quotient is perfect cube, so the smallest    
number is 

 
 la[;k 26244 dks NksVh ls NksVh la[;k ls Hkkx nsus ij] HktuQy iw.kZ ?ku gS rks og la[;k D;k gS\ 
 
 (a) 4  (b) 6  (c) 36  (d) 16 
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Q90. A cubical vessel can hold 1331 litre of water. The length of side of the vessel in m is 

 ,d ?kukdkj ik= esa 1331 yhVj ikuh :drk gSA rks ik= dk ,d fgLls dh yEckbZ fdrus ehVj gS\  

 (a)  11 m  (b) 1.1 m  (c) 0.11 m  (d) None of these 
 

Q91. A spherical ball made of iron has diameter 6 cm. If density of iron 8g/cm3 then mass of the ball is nearly 

 ,d xksykdkj yksgs dk xsUn 6 ls-eh- O;kl dk cuk gqvk gSA ;fn yksgs dh MsUlhVh 8 xzke@ls-eh-3 gSA rks mldk ekl 
fdruk gksxk\ 

 (use π = 3.142) 

 (a) 0.9 kg  (b) 0.8 kg   (c) 0.7 kg   (d) 0.62 kg 
 
Q92. A hollow sphere of internal and enternal diameter 4 cm and 8 cm is melted and recasted into a cone of 
base diameter 8 cm. The height of the cone is 
  
 ,d [kks[kyk ikn dk vUn:uh vkSj ckgjh O;kl 4 ls-eh- rFkk 8 ls-eh- gS rks 'kadw dh Å¡pkbZ gS\ 
 
 (a) 14 cm  (b) 15 cm (c) 28 cm  (d) 30 cm 
 

Q93. If tan θ = 
�

�
,then

������

������
,= ........ 

 

a) 
�

�
  (b) 

�

�
  (c)

�

��
  (d) 

�

�
 

 

Q94. 2 xsin 60o – 3ytan 45o = 0 and xtan 60o + √2ycosec45o = 5 then value of x and yrespectively are  

 xrFkkydk eku crk;sa\ 

 

a) √3and
�

�
  (b) 

�

√�
and 1  (c) √3 and 1 (d)  None of the above 

Q95.  Maximum and minimum value of  5 sin x + 3 cos x respectively are 

 vfèkdre rFkk U;wure eku D;k gS\  
 

 (a) -8 and +8  (b) 2 and 8 (c) -√34 and +√34 (d) None of the above 
 
Q96. Mean of 5 number is 22. If one number is excluded, mean becomes 19. The excluded number is  
 
 22 la[;k dk eè;e 5 gS ;fn ,d la[;k gVk fn;k tk;s rks eè;e 19 gks tk;sxk rks gVk;k gqvk la[;k gS\ 
 
 (a) 68  (b)34  (c) 17  (d) 20 
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Q97. Mean marks of 60 students of a class are 63 and that of 40 others students are 60. The mean marks of 
all taken together are 
 ,d d{kk esa 60 fo|kFkhZ dk eè; vad 63 rFkk 40 vU; fo|kFkhZ dk 60 gS rks dqy fo|kFkhZ dk eè; vad Kkr djsa\ 
  
 (a) 61.8  (b)61.5  (c)62  (d) None of the above 

 
Q98.  The median of 7, 11, 23, 36, 42, 50, 61, 73, 110 and 120 is --------------. 
 ekè; D;k gS\ 
 
 (a) 28.4  (b)56  (c)60  (d) 55.5 
 
Q99. In the given figure, CD∥AB. Find y. 

 fn;s gq;s vkÑfr esa CD∥ABrks y dk eku Kkr djsaA 

 

(a) 79O  (b) 72O  (c) 74O  (d) 77O 
 

Q100. If  ∆ABC and  ∆DEF are similar triangles in which∠A = 47O and ∠E = 83O, then ∠C is 

 ;fn ∆ABC rFkk ∆DEFvuq:i f=Hkqt gSA ftlesa ∠A = 47O rFkk ∠E = 83O, rks ∠Cgksxk\ 

 

 

 

 

 

(a) 50O  (b) 70O  (c) 60O  (d) 80O 

 

A D 

B C E F 

47O 

83O 


